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Q.1. Choose the correct options.

(i) The inverse process of addition is called:

™y

(a) | addition Cf (b) [ subtraction Lf" (c multiplicationb.«/" (d) [ division (..’M

N=
-’

(ii) The product of three negative integers is always:

e bu bt AL GE

(a) | negative d/ (b) [ positive v} (¢) [even &2 | (d)]odd ob

L=

(iii) The product of (—150) and (=3) is: e bt PN (<3) 5(-150)

(a) 50 (b) +450 © 450 d ~100

(iv) The sign of the product (—6)x (—6) x (—6) x (—6) x (—6) x (~6) x (=6) is:
:4‘-_*/")" b KUk (=6) % (—=6) < (—6) x (—6) x (=6) x (=6) x (—6)

(a) + (b) x (© - (d) -

(v) (33.5+90-70)x0="2

@| 2545 |m| 2545 | 0 @) 147
N 3.(5_2.2)\_,
(vi) 4+(7 7 7) :
! ! | 13
1 1L 1 13
@ ey ®) 21 © 28 @ 28

oMl =W f5Tss

W Answer the following questions:

Q.2. What is the BODMAS rule? (1x2=2) < /UIFE BODMAS

Q.3. Solve: (1x2=2) g/
80— [25-{20—(7-9-3)}]

Q.4. Solve: (1x3=3) g/

43 455,13 41,,1 31
1781505 6 6
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